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Pareto’s Law of Income Distribution –Graph
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Market Exchange  Scattering Process
(“CC-CCM” Models)( CC CCM  Models)



Steady State Money Distribution P(m)
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Asset transfer in an exchange economy
(CC model starting from CD utility function)(CC model starting from CD utility function)

 N agents; each produces a perishable N agents; each produces a perishable 
commodity.

 Bilateral trading process; each agent has Bilateral trading process; each agent has 
a Cobb-Douglas type preference 
structure:structure:
u1=(x1)(x2)(m1) and u2=(y1)(y2)(m2) .

Market clears immediately to match 
supply and demand.



Asset transfer.. Contd.

 Utility maximization: Utility maximization:
L=(x1)(x2)(m1) +ω(M1+p1Q1-p1x1-p2x2-m1)

utility function       Lagrange                   budget eqn.
multiplier

 FOC: L/ x=0  where x=x1,x2,m1 and ω.
 Let us assume that  +  +=1.
 Demand functions:        x1= (M1+p1Q1)/p1,

x2=  (M1+p1Q1)/p2,     m1= (M1+p1Q1);



Asset transfer.. Contd.

 Similarly dd. Functions for the 2nd agent:       y g
y1= (M2+p2Q2)/p1, y2=  (M2+p2Q2)/p2,
m2= (M2+p2Q2)

 Market clearing          x1+y1=Q1 & x2+y2=Q2

 Equilibrium prices: 
p1=(/)(M1+M2)/Q1  &  p2=(/)(M1+M2)/Q2



Asset transfer.. Contd.: CC model

 Money transfer equations (plugging p1 and p2 in the 
money dd. functions) :
m1(t+1)= m1(t)+Є(1- )(m1(t)+m2(t))

(t+1)  (t)+(1 Є)(1 )( (t)+ (t))m2(t+1)= m2(t)+(1- Є)(1- )(m1(t)+m2(t))
where mi(t+1)= mi and mi(t)=Mi for i=1,2

and Є =  /( + );a d Є  /( );

 Let  be fixed and ~uni[0,1- ]~ .
Hence, Є =  /( + )=  /(1- ) ~ uni[0,1]., ( ) ( ) [ , ]
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